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1 P PLGR4 T H263K 144 271 100. 0 100. 0
2 ] mILRTT B 1%L 110 100.0 100.0
3 ] BE6T H424% 41 392 100.0 100. 0
4 =] B2 T B4075 54 161 100. 0 100. 0
5 P FAMALI T B13526 171 100. 0 100. 0
6 P FAMALIT BE10%& 124+ 126 100. 0 100.0
7 A Mg 2T H12%15 180 100. 0 100. 0
8 P B 2T He& 14t 168 100.0 100. 0
9 P PE BT H 1352 165 100. 0 100. 0
10 P HE#3T H29%3 176 100. 0 100. 0
11 e & R1T H3% 213 100. 0 100. 0
12 =] W3 T H32%15 166 100. 0 100. 0
13 LA Es PEIL43 T H 1684 174 100. 0 100. 0
14 Lo PELSR1 T H1307%2 186 100. 0 100. 0
15 SLAEs PEL4e4 T H30%2 170 100. 0 100. 0
16 Lo L2 T B8 &1 172 100. 0 100. 0
17 ek HH2T B15E72 126 100. 0 100. 0
18 L H1T H10%39 148 100. 0 100. 0
19 L VU 1T H 22524k 139 100. 0 100. 0
20 L 1T B 17&SH 144 100. 0 100. 0
21 L W 2T 7194k 147 100. 0 100. 0
22 L 73T H9%2 145 100. 0 100. 0
23 L M2 T H9ET 140 100. 0 100. 0
24 T FHHmMLT B3%2 93 100. 0 100. 0
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25 Ll FHME2T H36%8 105 100.0 100. 0
26 E=gEs FEHHFLIT H4E11 128 100. 0 100.0
27 e #FHHAELT B 14724 135 100. 0 100. 0
28 E=gEs FHMHAL2T H319%106 129 100. 0 100. 0
29 T # A HAL3T B3307%43 119 100. 0 100. 0
30 E=gEs FAMHP2T H1515%375 123 100. 0 100. 0
31 T BE3T H18% 16 108 100. 0 100. 0
32 W RLES3T H 4278284 70 100. 0 100. 0
33 T EE2T H6%18 94 100. 0 100. 0
34 e 1T H73%28 111 100. 0 100. 0
35 ek PS5 T H33% 14 95 100. 0 100. 0
36 e PH 3T H29%&T 113 100. 0 100. 0
37 ek P 56T H193%9 95 100. 0 100. 0
38 e PSS T H17%2 98 100. 0 100. 0
39 ek P 56T H 10731 80 100. 0 100. 0
40 e PEIS1 T H20%1 104 100. 0 100. 0
41 ek {51557 H 10033241+ 124 100. 0 100. 0
42 LA PE 2T H39% 1 93 100. 0 100. 0
43 d=gES =IEST H19%1 87 100. 0 100. 0
44 e {5¥:6T H90%2 119 100. 0 100. 0
45 d=gES fr¥E5T H168%314F 113 100. 0 100. 0
46 e {3 T B 10275 111 100. 0 100. 0
47 d=gES fRiEAT H53%2 126 100. 0 100. 0
48 e 52T H60739 129 100. 0 100. 0
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49 L ER2T H513%94 111 100. 0 100. 0
50 E=gEs & 3T A 5435k 119 100. 0 100.0
51 L B R1T H 3794 135 100. 0 100. 0
52 E=gEs fmiE1T B 28334k 149 100. 0 100. 0
53 T EE6T Ha14% 147 100. 0 100. 0
54 B FEILS3 T H40% 186 100. 0 100.0
55 inEs PEILZR3T B 143%4+ 186 100. 0 100. 0
56 B FELG1 T H8E 201 100. 0 100. 0
57 DFE BE3T H 121320 109 100. 0 100. 0
58 BHE FAMHP2T H1515K576 140 100. 0 100. 0
59 {FiRES PO 2T H10%23 155 100. 0 100. 0
60 BRE M3 T H22% 441+ 154 100. 0 100. 0
61 {FiRES HEE3T H 3072 155 100. 0 100. 0
62 B HlH2T H1%186 156 100. 0 100. 0
63 DFE HEE 1T H24% 11 175 100. 0 100. 0
64 B PS5 T B 45%& 4+ 93 100. 0 100. 0
65 KL FAHH3T B 1473254 59 100. 0 100. 0
66 KL FH 3T H31E LS 50 100. 0 100. 0
67 KT B3 T H37&L 54 100. 0 100. 0
68 KL BT B 1% 52 100. 0 100. 0
69 KT Je#E1 T H 62054t 46 100. 0 100. 0
70 KT 1T H3%E 145 46 100. 0 100. 0
71 KT P 5T H 119%34¢ 49 100. 0 100. 0
72 KL BéE2T H 4313544 54 100.0 100. 0
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73 RIL BE2T H 1% 15+ 55 100. 0 100. 0
74 RTL R4 T H2136 61 100. 0 100.0
75 KT BT H60E 144 60 100. 0 100. 0
76 /T LSl T H3& 14 155 100. 0 100. 0
77 /T L2 T H173%65+ 107 100. 0 100. 0
78 /T FHME2T HTE 4 58 100. 0 100. 0
79 /T 53T H 352739 79 100. 0 100. 0
80 /T ek T H 1514 66 100.0 100. 0
81 /T L AELT B 1% 83 100. 0 100. 0
82 /T WE2T H2#E23 55 100. 0 100. 0
83 /T 1T H3%20 54 100. 0 100. 0
84 /T b1 T H615% 55 100. 0 100. 0
85 /T B4 T H 217530 67 100. 0 100. 0
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